

ABC Bid Data

HOLDERNESS-WATERVILLE VALLEY PMRAP

42786

PROJECT: STATE PROJECT NUMBER:	HOLDERNESS-WATERVILLE VALLEY PMRAP 42786	Awarded To:						
FED. PROJECT NUMBER:	NON-FEDERAL							
DATE BIDS OPEN:	April 02, 2020, 2:00							
SCOPE OF WORK:	PMRAP and resurfacing on NH 175 and resurfacing of NH 49 and Tripoli Rd.	Amount:	\$0.00	Certified by:	New stars of Davis at Davis language			
COMPLETION DATE:	June 25, 2021	Award Date:		L	Director of Project Development			
LOCATION:	Grafton							
Summary of Bidders								

Contractor	Bid Amount	Rank
GMI ASPHALT LLC	\$2,525,595.26	А
288 LACONIA ROAD, BELMONT NH 03220		
PIKE INDUSTRIES, INC.	\$2,575,563.06	В
3 EASTGATE PARK ROAD, BELMONT NH 03220		

ABC Bid Data



HOLDERNESS-WATERVILLE VALLEY PMRAP

42786

NON-FEDERAL

				PS&E		GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

206.1	COMMON STRUCTURE EXCAVATION	СҮ	3.40	\$325.00	\$1,105.00	\$1,350.00	\$4,590.00	\$500.00	\$1,700.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,343.80	\$22.00	\$95,563.60	\$15.30	\$66,460.14	\$28.00	\$121,626.40
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	805.20	\$85.00	\$68,442.00	\$71.00	\$57,169.20	\$78.00	\$62,805.60
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	46.20	\$175.00	\$8,085.00	\$100.00	\$4,620.00	\$175.00	\$8,085.00
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	2.40	\$350.00	\$840.00	\$200.00	\$480.00	\$250.00	\$600.00
403.6	PAVEMENT JOINT ADHESIVE	LF	8,045.50	\$0.70	\$5,631.85	\$0.27	\$2,172.29	\$0.50	\$4,022.75
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	24,742.60	\$3.00	\$74,227.80	\$3.15	\$77,939.19	\$3.00	\$74,227.80
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	1,614.40	\$77.00	\$124,308.80	\$65.70	\$106,066.08	\$70.00	\$113,008.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	18,286.40	\$70.00	\$1,280,048.00	\$65.70	\$1,201,416.48	\$69.00	\$1,261,761.60
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,300.00	\$75.00	\$97,500.00	\$65.70	\$85,410.00	\$69.00	\$89,700.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	32,412.70	\$2.75	\$89,134.93	\$2.25	\$72,928.58	\$2.70	\$87,514.29
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	944.60	\$4.50	\$4,250.70	\$2.25	\$2,125.35	\$2.00	\$1,889.20
418.32	EMULSIFIED ASPHALT FOR COLD PAVEMENT	GAL	59,699.50	\$2.85	\$170,143.58	\$2.45	\$146,263.78	\$2.30	\$137,308.85
418.41	PLANT MIXED RECYCLED ASPHALT PAVEMENT	TON	8,307.70	\$30.00	\$249,231.00	\$27.50	\$228,461.75	\$27.50	\$228,461.75
418.42	PLANT MIXED RECYCLED ASPHALT PAVEMENT, HAND METHOD	CY	58.30	\$150.00	\$8,745.00	\$75.00	\$4,372.50	\$125.00	\$7,287.50
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	66.00	\$125.00	\$8,250.00	\$130.50	\$8,613.00	\$128.50	\$8,481.00
604.0007	POLYETHYLENE LINER	EA	51.00	\$115.00	\$5,865.00	\$121.50	\$6,196.50	\$125.00	\$6,375.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	40.00	\$400.00	\$16,000.00	\$472.50	\$18,900.00	\$500.00	\$20,000.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$400.00	\$2,000.00	\$472.50	\$2,362.50	\$500.00	\$2,500.00
604.72	GRATES & FRAMES, TYPE B	EA	11.00	\$600.00	\$6,600.00	\$697.50	\$7,672.50	\$500.00	\$5,500.00
608.2401	4" CONCRETE SIDEWALK	SY	27.10	\$60.00	\$1,626.00	\$90.00	\$2,439.00	\$100.00	\$2,710.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	7.20	\$450.00	\$3,240.00	\$495.00	\$3,564.00	\$500.00	\$3,600.00
609.5	RESET GRANITE CURB	LF	19.50	\$30.00	\$585.00	\$45.00	\$877.50	\$50.00	\$975.00

ABC Bid Data



HOLDERNESS-WATERVILLE VALLEY PMRAP

42786

				PS&E		288 LA	SPHALT LLC CONIA ROAD NT, NH 03220	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	5.00	\$1,500.00	\$7,500.00	\$1,530.00	\$7,650.00	\$1,300.00	\$6,500.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	28,310.00	\$1.00	\$28,310.00	\$1.00	\$28,310.00	\$1.00	\$28,310.00
618.7	FLAGGERS	HR	2,640.00	\$35.00	\$92,400.00	\$34.20	\$90,288.00	\$34.50	\$91,080.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,000.00	\$8,000.00	\$1,260.00	\$2,520.00	\$5,600.00	\$11,200.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	69.30	\$3.00	\$207.90	\$9.00	\$623.70	\$10.00	\$693.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	78.80	\$1.00	\$78.80	\$1.80	\$141.84	\$0.80	\$63.04
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	316.30	\$3.50	\$1,107.05	\$3.15	\$996.35	\$3.60	\$1,138.68
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	133.00	\$4.00	\$532.00	\$3.60	\$478.80	\$6.00	\$798.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	212.60	\$4.50	\$956.70	\$4.05	\$861.03	\$4.00	\$850.40
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	15.00	\$90.00	\$1,350.00	\$54.00	\$810.00	\$65.00	\$975.00
692.	MOBILIZATION	U	1.00	\$200,000.00	\$200,000.00	\$185,000.00	\$185,000.00	\$87,000.00	\$87,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,100.00	\$1.00	\$2,100.00	\$1.00	\$2,100.00	\$1.00	\$2,100.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	11,615.20	\$1.00	\$11,615.20	\$1.00	\$11,615.20	\$1.00	\$11,615.20
			Totals:		\$2,758,680.91		\$2,525,595.26		\$2,575,563.06
			Alt. Totals:						
			Totals:		\$2.758.680.91		\$2,525,595,26		\$2,575,563.0



HOLDERNESS-WATERVILLE VALLEY PMRAP

42786

				A-Bidder		PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
206.1	COMMON STRUCTURE EXCAVATION	СҮ	3.40	\$1,350.00	\$4,590.00	\$325.00	\$1,105.00	\$3,485.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,343.80	\$15.30	\$66,460.14	\$22.00	\$95,563.60	(\$29,103.46)
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	805.20	\$71.00	\$57,169.20	\$85.00	\$68,442.00	(\$11,272.80)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	46.20	\$100.00	\$4,620.00	\$175.00	\$8,085.00	(\$3,465.00)
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	2.40	\$200.00	\$480.00	\$350.00	\$840.00	(\$360.00)
403.6	PAVEMENT JOINT ADHESIVE	LF	8,045.50	\$0.27	\$2,172.29	\$0.70	\$5,631.85	(\$3,459.56)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	24,742.60	\$3.15	\$77,939.19	\$3.00	\$74,227.80	\$3,711.39
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	1,614.40	\$65.70	\$106,066.08	\$77.00	\$124,308.80	(\$18,242.72)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	18,286.40	\$65.70	\$1,201,416.48	\$70.00	\$1,280,048.00	(\$78,631.52)
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,300.00	\$65.70	\$85,410.00	\$75.00	\$97,500.00	(\$12,090.00)
417.	COLD PLANING BITUMINOUS SURFACES	SY	32,412.70	\$2.25	\$72,928.58	\$2.75	\$89,134.93	(\$16,206.35)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	944.60	\$2.25	\$2,125.35	\$4.50	\$4,250.70	(\$2,125.35)
418.32	EMULSIFIED ASPHALT FOR COLD PAVEMENT	GAL	59,699.50	\$2.45	\$146,263.78	\$2.85	\$170,143.58	(\$23,879.80)



HOLDERNESS-WATERVILLE VALLEY PMRAP

42786

		A-Bid		der PS		ЪЕ		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
418.41	PLANT MIXED RECYCLED ASPHALT PAVEMENT	TON	8,307.70	\$27.50	\$228,461.75	\$30.00	\$249,231.00	(\$20,769.25)
418.42	PLANT MIXED RECYCLED ASPHALT PAVEMENT, HAND METHOD	СҮ	58.30	\$75.00	\$4,372.50	\$150.00	\$8,745.00	(\$4,372.50)
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	66.00	\$130.50	\$8,613.00	\$125.00	\$8,250.00	\$363.00
604.0007	POLYETHYLENE LINER	EA	51.00	\$121.50	\$6,196.50	\$115.00	\$5,865.00	\$331.50
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	40.00	\$472.50	\$18,900.00	\$400.00	\$16,000.00	\$2,900.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$472.50	\$2,362.50	\$400.00	\$2,000.00	\$362.50
604.72	GRATES & FRAMES, TYPE B	EA	11.00	\$697.50	\$7,672.50	\$600.00	\$6,600.00	\$1,072.50
608.2401	4" CONCRETE SIDEWALK	SY	27.10	\$90.00	\$2,439.00	\$60.00	\$1,626.00	\$813.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	7.20	\$495.00	\$3,564.00	\$450.00	\$3,240.00	\$324.00
609.5	RESET GRANITE CURB	LF	19.50	\$45.00	\$877.50	\$30.00	\$585.00	\$292.50
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	5.00	\$1,530.00	\$7,650.00	\$1,500.00	\$7,500.00	\$150.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	28,310.00	\$1.00	\$28,310.00	\$1.00	\$28,310.00	\$0.00
618.7	FLAGGERS	HR	2,640.00	\$34.20	\$90,288.00	\$35.00	\$92,400.00	(\$2,112.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,260.00	\$2,520.00	\$4,000.00	\$8,000.00	(\$5,480.00)
628.2	SAWED BITUMINOUS PAVEMENT	LF	69.30	\$9.00	\$623.70	\$3.00	\$207.90	\$415.80
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	78.80	\$1.80	\$141.84	\$1.00	\$78.80	\$63.04



HOLDERNESS-WATERVILLE VALLEY PMRAP

42786

NON-FEDERAL

				A-Bidder		PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	316.30	\$3.15	\$996.35	\$3.50	\$1,107.05	(\$110.70)
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	133.00	\$3.60	\$478.80	\$4.00	\$532.00	(\$53.20)
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	212.60	\$4.05	\$861.03	\$4.50	\$956.70	(\$95.67)
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	15.00	\$54.00	\$810.00	\$90.00	\$1,350.00	(\$540.00)
692.	MOBILIZATION	U	1.00	\$185,000.00	\$185,000.00	\$200,000.00	\$200,000.00	(\$15,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,100.00	\$1.00	\$2,100.00	\$1.00	\$2,100.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	11,615.20	\$1.00	\$11,615.20	\$1.00	\$11,615.20	\$0.00

Total:

\$2,525,595.26

(\$233,085.65)

\$2,758,680.91